CO2HtH EF D #H (B A RIER)

SEERI

20205 B1E: co2#E &= BAULE A50075t-CO2
2030F B1E(ZE) : CO2#kHti= BAULE A90075t-CO2

20204 [E 2030 E
E 19904 E 20054F JE 20125 F e

FE FE FE FE a1z B4 ()
E=S 1.04 1.08 1.04 1.15 1.15
MM EEZ[{Et]x
IRILX—HE=S 2,439 2,262 2,227 - -
HEN—X]P)]
CO2#EH = (BAU) - - - 19,675 19,675
[J3t-CO2]
CO2#F = (3EfE) %2 20,061 18,703 18,577 19,175 18,775
[J3t-CO2]

(1990F E=1)

IRILX—[RE 1 0.90 0.92 - -
(1990F E=1)
CO2#EH [R B a1 1 0.90 0.93 0.86 0.81

X1 BETEIFEXITERRMT
HEWE

BB Im

(AT ERFARGAEN ., 25FEI7+0—T7 v IWCERFICHIEIER

SETEHES N EDSEHE,
32 19904 &, 2005F E . 202FEDEIL. —REXRBXENODEABNEZCOHHEICHMETHITHI=>T.

HNEHFBRBERN LD THY. 2020FE. 2030FEEDIEIL,

R = P =
2 B8 Uifi B8,

NBEHFEREZERL =10,




CO2EFH EFNHB (AR LFIXHBR

20205 B1E: co2#EH &= BAULE A15073t-CO2
2030F B (FE) : #&it

FRE 19904 & 20054E &

20124 [E

20205 E
BiZ

2030 E
BiZ(FE)

KES 100 125
A EFER-]

111

IXRILFXF—HESE
[RiRBEAR—X [Tk

2,674 2,880

2,485

CO2# i = (BAU)
[J3t-CO2]

co2EH = (3Ef8)
[J3t-CO2]

6,172 6,675

5,761

IRILF—REA 1 0.86 0.84
(1990F E=1)
CO28EH [R B a1 1 0.87 0.84
(1990F E=1)

(AT ERFARGAEN ., 25FEI7+0—T7 v IWCERFICHIEIER




COHfHEFNHB (BXARBES R

20205E HHE: CO2HEH 2 BAUx1EE A1398t-CO2 %1 2005EEQEEMERLELLTEE
2030 HIE () : CO2HEH 2 BAUX2EE A758t-CO2 %2 2008~2012F EshE TN EEGEEELLTEE

2008~2012 2020 E 20304 E
iE 19904 20054 20125 FF i

FE FE FE FE | gy L B8 ()
SE=S 2,515 2,744 2,261 2,386 2,473 2,390
EEE[Ht/HF]
IRIILFXT—HE=S 367 339 240 262 286 -
HEN—X[T]
CO2#EH = (BAU) - - - - 2,243 -
[75t-CO2]
CO2#F i = (EfE) 2,493 2,418 1,716 1,859 2,104 -
[75t-CO2]

IRV —[RE{ 1 0.85 0.72 0.75 0.80 -
19904 E=1
CO2HEHH R B {sL 1 0.89 0.78 0.78 0.83 -
19904F E=1
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CO2BFHEFDHR (EAVMIR

2020 B4Z: IRIILX—[REAL 2010FEL A1.1%

2030 FE HIE(FE) : ITRILX—[REAL 2010FEL A1.4%LTF

- - = | 20105E - 20205 & 20304 &

FEE 19904 | 2005 F (R ) 20124 & 4@ 548 (% =)
ES 9,310 7,393 5,590 5,931 5,621
X E=E[At]
IXRILX—HES - - 494.7 518.3 491.8
[RiRBEAN—X[ kK]
CO2#E = (E£8) 2741 2177 1642 1740 -
[J3t-CO2]

IRILX—[REL

(2010F E=1)

A 39MJ/t-cem
[0.989]

AA9MJ/t-cemBL
[0.986 LA ]

CO2HE i [R B {31
(1990F E=1)

0.998

0.996

(AT ERFARGAEN . 25FEI74+0—T7 v IWCERFICHIEIER

X [NF2030FEEBIZENREFEX1ELI-IHFEDLIEE




Co2BEtH EF DH#R (BH - EFREEXNFERS)

2020 BZ: IRIILF—REMAHNEE FFXHI% Q012FEELH A7.73%)
2030 F HZ(E) : IRIILF—REAMANEER FF1H1% Q012FE L A16.55%)

- - - 20125 & 20205 & 20304

FE 19905 /& 005FF | (meap) g1z B2 (%)
YES 34,332 40,080 27,777 - -
% BEES[10EM]
IRILX—HESE 638 1,010.1 862.5 | 1,530~1,550%1 -
[RHABRER—X[FK]
CO2HEH = (3EfE) 1,112 1,804.6 1,680 | 2,510~2,700%1 -
[J3t-CO2]
IHILX—[REf . 0.55%3 0.50%3
(1990F E=1) [0.9227] [0.8345]
CO2HFHH R B 1 0.69 0.66 - -
(1990F E=1)

X1 RS —X(GDPHEER13%/FHR)DREL
X2 [1IF2030FEEHEZEOREFEF1LLI-GEDIHE
X3 “2020/2030FEEEHAZE” OREAEEX. BETHHEORELIC, REXELXRICHTIIH-EEDIE

(AT ERFARGAEN ., 25FEI7+0—T7 v IWCERFICHIEIER



COHFHEFDOHB(BFAEHEIXR-BFXBHEEAFRIRR)

2020 HEE: CO2#ktH= 1990FELL A28%
2030 BIE(FE) : CO2#kEE 1990FELL A33%

- 1990 & o - 20205 & 2030 &

FE (mar) | 200FE 20126 % g1z B2 (%)
YES 1359 - 955 1170 1170
HEBHAE]
IRIILX—HEE
[FABRER—X[FKI]
CO2HEH = (3EfE) 990 794 - 709 662
[/3t-CO2] [1] [0.80] [0.72] [0.67]
IHILX—[RE{
(1990F E=1)
CO2HFHH R B 1 - - 0.85 0.79
(1990F E=1)

X [1IF2030FEBEDEEFEFILLI-GZGEDLE

(AT ERFARGAEN . 25FEI74+0—T7 v IWCERFICHIEIER 6



